

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

02/01/2023 09:00 AM | Install Day 1 02/02/2023 08:00 AM | Install Day 2 02/03/2023 08:00 AM | Install Day 3 02/04/2023 11:00 AM | Event Date 02/04/2023 04:00 PM | Strike Day 1 02/05/2023 08:00 AM | Strike Day 2 PO: Shipping Address: Private Lot 780 Tortuoso Way (near belair hotel)

IN-0005638

424 Productions 8543 Santa Monica Blvd. Unit 11 West Hollywood, CA 90069

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total Gen	eral	\$0.0
VIP SEATING -	HOLD				
		Total	VIP SEATING - HO	DLD	\$0.0
VALET / ENTRY	,				
	Perimeter Pulbacks for 10' x 15' Tent instock fabric TBD	1	\$1,250.00	Т	\$1,250.0
	Perimeter Valance - TBD Fabric	1	\$550.00	Т	\$550.0
6	Bruges Club Chair T Back - Nude Boucle	4	\$250.00	Т	\$1,000.0
	Rome Accent Table Round 01 - Off White	4	\$125.00	Т	\$500.0
			Total VALET / EN	ſRY	\$3,300.0
WALKING PATH	I				
	Perimeter Pullbacks 5'W - TBD Instock Fabric for approx 300' of tenting (double sided)	1	\$9,000.00	Т	\$9,000.0
	Perimeter Valance - TBD Color	1	\$2,700.00	Т	\$2,700.0
	Pedestals - Round 01 30" RND X 29" H TBD color	2	\$350.00	Т	\$700.0
	Instock Pedestal - 24"D x 42"H TBD Color	2	\$250.00	Т	\$500.0
			Total WALKING PA	ТН	\$12,900.0
COAT CHECK					
	Perimeter Valance - TBD Color	1	\$750.00	Т	\$750.0
	Perimeter Drape for 10' x 20' Tent	1	\$1,750.00	Т	\$1,750.0

Description		Qtty	Price		Total
			Total COAT CHE	CK	\$2,500.00
MAIN TENT					
	Peak Wall Drape - Sheer Off White 50' for both the front and back, peak ends of the tent. Central Pullbacks for both ends	2	\$2,750.00	Т	\$5,500.00
	Custom Fabric 'Cloud' approx 30'L x 10'W white sheer fabric/mesh to create an architectural fabric art piece in the ceiling of the tent **PRICE IS SUBJECT TO CHANGE**	4	\$15,000.00	Т	\$60,000.00
	Custom Central Fabric Ring approx 25'D x 10' -12'H white sheer/mesh to create movement around central seating grouping **PRICE IS SUBJECT TO CHANGE**	1	\$30,000.00	Т	\$30,000.00
	TBD Trussing Beams for Support/Hanging invoice sent separately	1	\$0.00	Т	\$0.00
	Truss Covers - Off White	1	\$2,000.00	Т	\$2,000.00
	Madrid Rounded Sofa - Off White Boucle	4	\$500.00	Т	\$2,000.00
	Rome Squared Sofa - Off White Boucle	4	\$500.00	Т	\$2,000.00
	Madrid Club Chair - Off White Boucle w. Wood Trim	4	\$250.00	Т	\$1,000.00
6	Rome Club Chair - Off White Boucle	4	\$250.00	Т	\$1,000.00
	Athens Coffee Table LARGE - Cut Out Round Taupe	8	\$300.00	Т	\$2,400.00
	Athens Accent Table - Cut Out Round Taupe	8	\$125.00	Т	\$1,000.00
577	Berlin Serpentine Sofa (3pcs)	2	\$1,350.00	Т	\$2,700.00
	Custom Cover - Berlin Serpentine (3pcs) - Taupe Boucle OR we have Taupe velvet INSTOCK (for no extra charge) but it is not the same color as the taupe boucle	2	\$1,350.00	Т	\$2,700.00
	Rome Coffee Table Round - Off White	4	\$250.00	Т	\$1,000.00
	Rome Accent Table Round 02 - Off White	4	\$125.00	Т	\$500.00

Description		Qtty	Price		Total
	Ottoman Pod 18"D Off White Boucle and Taupe Boucle	32	\$65.00	Т	\$2,080.00
	Palm Springs Stand Up - Wire w. White Glass base painted taupe color	14	\$225.00	Т	\$3,150.00
	Monaco Straight Bar 8'L - Beveled Edge TBD paint color	2	\$950.00	Т	\$1,900.00
	Custom Monaco Straight Bar 8'L - Beveled Edge TBD Paint Color	2	\$2,500.00	Т	\$5,000.00
	Straight Barback 8'L - TBD color	4	\$275.00	т	\$1,100.00
			Total MAIN TE	NT	\$127,030.00
FOOD STATIONS	3				
	Instock Round Pedestal - 56"D x 36"H for the charcuterie station	1	\$650.00	Т	\$650.00
	Instock Round Pedestal - 48"D x 40"H (1) for Staton A (1) for Station B	2	\$550.00	Т	\$1,100.00
	Platform - Round 03 40" Diam x 29"H (2) for the charcuterie station (2) for Station A and Station B	4	\$450.00	т	\$1,800.00
	Instock Round Pedestal - 40"D x 32"H (1) for Staton A (1) for Station B	2	\$450.00	Т	\$900.00
	Instock Round Pedestal - 36"D x 36"H for the charcuterie station	2	\$350.00	Т	\$700.00
	Instock Round Pedestal - 30"D x 38"H (1) for Staton A (1) for Station B	2	\$350.00	Т	\$700.00
	Instock Pedestal - 24"D x 30"H (1) for Staton A (1) for Station B	2	\$250.00	Т	\$500.00
		Тс	otal FOOD STATIO	NS	\$6,350.00
VIP SEATING					
C	Bruges Rounded Sofa (1) Piece ONLY - Right Arm Nude Boucle	2	\$450.00	т	\$900.00
P-	Bruges Rounded Sofa (1) Piece ONLY - Left Arm Nude Boucle	2	\$450.00	Т	\$900.00

Description		Qtty	Price		Total
	Bruges Coffee Table - Off White w. Black Glass Top	2	\$250.00	Т	\$500.00
	Custom Mirror Top for Bruges Coffee Table	2	\$250.00	Т	\$500.00
	Bruges Club Chair - T Back Nude Boucle	2	\$250.00	Т	\$500.00
9	Rome Coffee Table Round - Off White	2	\$250.00	Т	\$500.00
	Custom Mirror Top for Rome Coffee Table	2	\$200.00	Т	\$400.00
	Rome Accent Table Round 01 - Off White	2	\$125.00	Т	\$250.00
	Custom Mirror Top for Rome Accent Table	2	\$150.00	Т	\$300.00
	Ottoman Pod 18"D NEW Nude Boucle	6	\$85.00	Т	\$510.00
			Total VIP SEATI	NG	\$5,260.00
OUTDOOR DECK	ζ				
	NEW PLexiglass Egg Swing Chair - Boucle Cushions **price subject to change based on purchase. Confirmation needed asap on this for delivery time**	3	\$3,600.00	Т	\$10,800.00
	New York Bar 6'L - TBD Design for Bar Front	2	\$1,250.00	Т	\$2,500.00
	Straight Barback 6'L - TBD Color	2	\$250.00	Т	\$500.00
	TBD Trussing Beams for Support/Hanging invoice sent separately	1	\$0.00	Т	\$0.00
	Truss Covers - Off White for approx 8' x 16' x 12'H structure	1	\$1,175.00	Т	\$1,175.00
	Berlin Serpentine Sofa (3pcs)	1	\$1,350.00	Т	\$1,350.00
	Custom Cover - Berlin Serpentine (3pcs) - Taupe Boucle	1	\$1,350.00	Т	\$1,350.00
			Total OUTDOOR DE	СК	\$17,675.00
BATHROOMS					
	Perimeter Valance - TBD Color	1	\$1,400.00	Т	\$1,400.00

Description		Qtty	Price		Total
	Perimeter Drape for 30' x 40' Tent	1	\$4,200.00	Т	\$4,200.00
			Total BATHROOM	S	\$5,600.00
Services					
	Installers: Install Wednesday	12	\$550.00		\$6,600.00
	Installers: Install Thursday	12	\$550.00		\$6,600.00
	Installers: Install Friday	12	\$550.00		\$6,600.00
	Installers: Touch Ups Saturday AM 6am to 10am	12	\$350.00		\$4,200.00
	Installers: Strike Saturday Evening TBD timing	12	\$450.00		\$5,400.00
	Installers: Strike Sunday Morning	8	\$450.00		\$3,600.00
	Trucking: 24'L	6	\$450.00	Т	\$2,700.00
	Trucking: Fuel Surcharge	6	\$65.00	Т	\$390.00
	Manager: Onsite (4) Days	1	\$2,600.00		\$2,600.00
	Manager: Designs & Layouts	1	\$1,850.00		\$1,850.00
	Certificates: Flame Proofing	1	\$1,450.00		\$1,450.00
	Supplies: Misc	1	\$1,450.00		\$1,450.00
	Equipment: Lifts and Gator Carts price subject to change	6	\$1,400.00		\$8,400.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it

Notes

Total Products:	\$180,615.00
Total Labor/Services/Misc:	\$51,840.00
Taxes :	\$17,451.98
Discounts:	(\$0.00)
Total:	\$249,906.98
Payments:	(\$0.00)
Balance:	\$249,906.98